VTS 4 —3 7 Abayvy ) — bEVAEFE

=
=N

A4

No.

20244 4H 1H

SRR AE = 7 ) — R
)ZJE FrEll =T H1178-6
T E5(0848) 46-4111

F A X(0848) 46-8800

PRI Fufe

T F 4

P

A

£ H

AN T OE R

A BB 3@ 9 H

SHITH~6H10H, 9H21H~12H10H (REHERLE) /it LM A 10 12 Fe ik,

/) - OFA LT | L X025
fid = D B il % s
a7 —+hro N 2777 UFATVT Te= A M O KSTE | tAVE O R
BN 5| I K DS — cm mm I X AR
Sept 27 12 20 BB
%Ejg £ A v b o HEE REO R Bk H g M o &k K ST ik FEOT AR FE
P B Jo
A w0 omoom wweemces |70 20 7 R o
BTN R DGy 5 FAA IR L2 Bk BaEy))-tOBMNEEEE — keg/mi
e K o K ol ARG (2 U — ko g —C
EAL [ *40)@’;2&&@1%% % i AL OV & RIS BR il Kk A R koD HIEED LR 55 %
FEM k B & A & 0.30 ke/nf DT B ABO B 5D ER — ke/ni
T EORE %1%&@“5%&? — F B &0 BEED FRXEAEED LR — keg/mb
72 & =8 — % | D A T T HE K& —cm
filf H M Bt
A v NAEEHABRESH N Y~ (% g/c | 3.04 NasOeq % | —
R D]y o — . — e s ] — [NazOeg —
o y - Thh Wiﬂﬂsu LARR RO KR & SRR T B /e BRI %@
o A O X OE A g e e ol |EEE | Wk %
H0|C| i T T S R S T X BT R A AURZEE 5 2.85 | 2.52|2.57 —
B k) E%Hmllmﬁﬁ)ﬂmﬁ&éﬂ% AL H L R—E B 2.55 |2.60[2.63] 3.0+2.0
1Z1® — — — — — il —
D e i J2 VA L L T M T SR Sy 1505 | AE /L A L/ — K] 15~5 6.30 |2.63|2.65| 0.5%0.5
ﬁ,@)E’%E r“%krffaauﬁﬁ{%ﬁ):wﬁm 5y 2010|AE/V 2L/ 3—i20~10 6.90 |2.63|2.65| 0.5%0.5
@ _ _ _ _ _ _ _ _
M@ — — - - — - - | - -
RAAO 77— v 7 SVI0L AEPAK A BEHER 1 FE) NauOe 0.6
R 7 © | 4% — i — o d -
B A @ — — ° —
B OdwE  |D0.002% KOX Sy | EAKEA BEG Y EEYER | — %
[BLE A O FH 5 i H HOF M — LENAT v KOFERHD -
ik & £  ke/md
. B fn ¥ il B iz H 1 iz & it Zall
+
Mo Toe | XloTele o e @@ O @6
335 — — 174 | 529 | 292 | — | 421 | 516 | — — | 2.68 — —
KE AL b I 52 % | K &5 & M — %[ B 47.2 %
s %W RERAGHS, RRADERRIOVTE, Y RLIZES 5500HD, AE“WE'/\H: MEMO:Q 65.0:35. 0
BEEERRL LT RorTEfiion, Ml EigosffiToibits | (BREEIRS) HEMOD:®© 45.0:55.0

EH6H11H~9H20H £ T+20%, &A#12H11H~3H 10 H % T-20%




i A& 5t B £
Aic & p) X 7t % s

27— j\ D R 2707 SAFIA707 Te= [ RUEM O RSHE| v OREE

@Uﬁ %ii;ﬁ Cié% 7':5" —< cm mm G:iégﬂ%
RSt 27 12 20 BB

FEESIE |W/C=55%
(1) ZEhteti(v) WTHEOEREIZED v = 10 %
(2)EE T8 (m)

. 0.85-SL _ 2 _ SL _ 2

mi1 = . 3oV = 32.8 N/mf m2= . R = 33.8 N/mf
100 100
Xo>T m = 33.8 N/of

(3)KEAV FEE(W/C) m = -17.7 + 26.9 X C/W
W/C = 26.9 + (33.8 + 17.7) X 100 = 52 % = [55%(LBE1 )]

“W/C = %
(4) BfKE (W) ERRES ([ ot@ W = 174 ke /mi
(5)HfSrE A F&E(C) C =W+ (W/C) X 100 = 174 = 52 X 100 = 335 kg/m
Cv= C + % = 335 ~ 3.04 = 110 2/m
(6) 2254 (A) A = 4.5 % X 1000 = 45 2/m

(7)BNCHEME(G) U ILLOERKICELY MNEEFE = 0.600 mi/md EFER = 59.0 %
Gv = 0.600 X 1000 X 59.0 = 100 = 354 £ /m
Glv = Gv X 45.0 % = 159 2¢/m Gl= GIvXEWEE = 159 X 2.65 = 421 kg/m
G2v = Gv X 55.0 % = 195 2 /m G2= G2yX KB = 195 X 2.65 = 516 kg/m
(8) L HE# = (S) Sv = 1000 — (W+Cv+Gv+A) = 1000 — 683 = 317 £ /mi
Slv = Sv X 65.0 % = 206 2/m S1= SIvXEWEE = 206 X 2.57 = 529 kg/m
S2v = Sv X 35.0 % = 111 2/m S2= S2yXEWEE = 111 X 2.63 = 292 kg/m

(9)MEM=E(s/a) s/a = Sv = (Gv+Sv) X 100 = 47.2 %
(10) B yEFn A% (Ad) Ad = C X INE = 335 X 0.80 % = 2.68 kg/m
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